27/2019

Maximum : 100 marks

Time : 1 hour and 15 minutes

1.  Winner of Gandhi Peace Prize for the year 2018 :
(A) Chandi Prasad Bhatt (B) Vivekananda Kendra
(C) Ekal Abhyan Trust (D) Yohei Sasakawa

2.  When is the International Mother Language Day celebrated?
(A) January 234 (B) February 21st
(C) April 21¢t (D) March 22nd

3. Whois the youngest gold medalist in Khelo India Youth Games?
(A) Kartik Singh (B) Manini Kaushik
(C) Abhinav Shaw (D) Harshit Binjua

4. Name the Indian who won the Dan David Prize for the year 2019 :
(A) Sanjay Subrahmanyam (B) Romila Thapar
(C) Shrinivas Kulkarni (D) Amitav Gosh

5.  Which State of India launched ‘SMiLE Vitrual Tour Guide’ that links tourists with the places
of attraction and providers of services?

(A) Karnataka (B) Maharashtra
(C) Kerala (D) Tamil Nadu

6. Who won the Ezhuthachan Award for the year 2018?
(A) K. Sachidanandhan (B) M. Mukundan
(C) T.Padmanabhan (D) M.T. Vasudevan Nair

7. The Book ‘281 and Beyond’ is the autobiography of which Indian Cricketer?
(A) Rahul Dravid (B) Rohith Sharma
(C) V.V.S. Laxman (D) Virendra Sehwag

8.  Which state government has recently launched ‘Mukhyamantri Swabhiman Yojana’?
(A) Uttar Pradesh (B) Rajasthan
(C) Jharkhand (D) Madhya Pradesh
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10.

11.

12.

13.

14.

15.

16.

17.

Which of the following rescue operation had been launched by Indian Army at the flood-hit
areas of Kerala?

(A) Operation Sahyog (B) Operation Karunya
(C) Operation Maitri (D) Operation Surya Hope

Which city has been recognised as ‘World Capital of Architecture’ for 2020 by UNESCO?
(A) Jaipur City (B) Rio de Janeiro
(C) Istanbul (D) Saint Petersburg

From which country the concept of Judicial Review in Indian Constitution is borrowed?
(A) Ireland (B) Canada
(C) USA (D) United Kingdom

Who was the first woman President of Indian National Congress?
(A) Sarojini Naidu (B) Nellisen Gupta
(C) Indira Gandhi (D) Annie Besant

Who wrote the work ‘Rajatarangini’?
(A) Athula (B) Kalhana
(C) Bilhana (D) Kautilya

Which of the following river was called Churni in ancient times?
(A) Periyar (B) Bharathapuzha
(C) Chaliyar (D) Pamba

‘Keezhariyur Bomb Case’ is associated with which of the following?
(A) Swadesi Movement (B) Malabar Rebellion
(C) Quit India Movement (D) Salt Sathyagraha

Dendrochronology is the scientific study of :
(A) Pottery remains (B) Coins

(C) Inscriptions (D) Annual rings of trees

What does ‘T stand for in the abbreviation NITI Ayog?
(A) Transferring (B) Transforming
(C) Training (D) Technical
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22.

23.

24.

25.

26.

Pradhan Mantri Jan Dhan Yojana (PMJDY) was launched on :
(A) 28" August 2014 (B) 11t October 2014
(C) 14th November 2014 (D) 28th October 2014

Who invented Steam Engine?
(A) Humphry Davy (B) Samuel Colt
(C) James Watt (D) Michael Faraday

‘Love in the Time of Cholera’ is a book written by :
(A) Gabriel Garcia Marquez (B) Richard Flanagan
(C) Lydia Davis (D) Alice Munro

Who referred to Wagon Tragedy as ‘Black Hole of Pothannur’?
(A) K. Madhavan Nair (B) K.M. Panikar
(C) Sumit Sarkar (D) S.N. Sen

Name the social reformer of Kerala who is known as Mudichoodum Perumal :
(A) Nadaraj Guru (B) Thycaud Ayya
(C) Vagbhadananda (D) Vaikunda Swamikal

Who among the following started a branch of Brahmo Samaj at Calicut?
(A) Moorkoth Kumaran (B) Ayyathan Gopalan
(C) Vagbhadananda (D) T.K. Madhavan

Which of the following was founded by Poikayil Yohannan?
(A) Sadhu Jana Doothan (B) Saiva Prakasa Sabha
(C) Nasrani Deepika (D) Pratyaksha Raksha Daiva Sabha

The first meeting of Narayana Guru with Mahatma Gandhi was in the year :
(A) 1925 (B) 1922
©) 1927 D) 1920

Who authored the work ‘Mokshapradeepam’?
(A) Sree Narayana Guru (B) Ananthatheertha
(C) Brahmananda Sivayogi (D) Vagbhatananda
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28.
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31.

32.

33.

34.

35.

Which of the following was founded by Pandit Karuppan?
(A) Samathva Samajam (B) Araya Samajam

(C) Pulaya Maha Sabha (D) Sahodara Sangam

The Kallumala agitation which took place in Central Travancore is also known as :
(A) Thonooramandu Lahala (B) Channar Lahala
(C) Adi Lahala (D) Perinadu Lahala

Who was the first President of Nair Service Society?
(A) Mannathu Padmanabhan (B) K. Kelappan.
(C) K.P. Pillai (D) K. Kannan Nair

Which social reformer of Kerala started the journal ‘Abhinava Keralam’?
(A) C.P. Govinda Pillai (B) Dr. Palpu
(C) Vaghbatananda (D) Ramakrishna Pillai

give step by step movement to the carriage.
(A) Rocker (B) Mainspring
(C) Platen (D) Tabulator

Touch Method of typewriting was introduced by :

(A) Charles McGurrin (B) Christopher Lanthem Shoels
(C) G. Ravissa (D) Henry Mill
While cutting on stencils the bichrome switch is put on the —————— Position.
(A) Black (B) Red
(C) White (D) Yellow

The size of A4 paper is :
(A) 297 mm x 420 mm (B) 148 mm x 210 mm
(C) 210 mm x 297 mm (D) 105 mm x 148 mm

The first text book “Hand Book of instructions for the typewriter” was written by :
(A) Mrs. Longly (B) Edward F Underhill
(C) dJohn N Williams (D) E.E. Horton
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38.

39.

40.

41.

42.

43.

44.

Which carriage is suitable for brief paper?
(A) 127 Carriage B) 227 Carriage
(C) 15” Carriage (D) 26” Carriage

Which key is used to bring the blocked type bars back to their normal position?
(A) Back Space Key (B) Key Release Key
(C) Shift Key (D) Bichrome switch

The up and down movement of the ribbon at the printing point is :
(A) Ribbon economy (B) Ribbon Vibrator
(C) Ribbon Throw (D) Ribbon mechanism

Squeezing means :
(A) Type more letters in less space
(B) Type less letters in more space
(C) Type correct letters in correct space
(D) None of these

An average of —————— strokes is taken for one standard word.
A 4 B 5
© 3 D) 8

Right Division of a word is known as :

(A) Abbreviation (B) Pagination
(C) Syllabification (D) Representation
P.B.X stands for :
(A) Private Branch Exchange (B) Private Bank Exchange
(C) Post Box Exchange (D) Public Branch Exchange

The sign used to indicate a Foote Note is
(A) Hash #) (B) Dollar ($)
(C) Asterick (*) (D) Underscore (_)

When the papers and carbons are not easily inserted in the type machine, which folder is used?
(A) Plastic folder (B) Cardboard folder
(C) Paper folder (D) Carbonium folder
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45. Which method of Keyboard operation involves typing by sense of location, memorizing of the
Keyboard and each finger operating on the keys allocated to it?

(A) E typewriting (B) Touch Method of typewriting
(C) Sight Method of typewriting (D) None of the above

46. In proof correction ‘NP’ stands for :
(A) Next Page (B) Next Paragraph
(C) Next Print (D) Number of Pages

47. For making 8 — 10 carbon copies at a time, which type of paper is used?
(A) Rice Paper (B) Plastic coated paper
(C) Butter Paper (D) Plain Paper

48. Which pen is used for signatures and drawings on Stencil paper?

(A) Ball Pen (B) Stylus Pen
(C) Fountain Pen (D) Marker Pen
49. ———is used to type on ruled papers.
(A) Tabulator (B) Paper Release Lever
(C) Paper Guide (D) Variable Line spacer

50. Maximum use of type ribbon is known as :
(A) Typography (B) Ribbon Economy
(C) Ribbon Manifolding (D) Ribbon Throw

51. The abbreviated form of Messrs is :
A) M/S (B) Miss
(C) Mrs. (D) None of these

52. Which key is used to retype a letter lightly printed or omitted?
(A) Shift Key (B) Back space key
(C) Margin Release Key (D) Key release key

53. A Typewriter which can be easily transported from one place to another is called :
(A) Noiseless Typewriter (B) Standard Typewriter
(C) Portable Typewriter (D) None of these
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55.

56.

57.

58.

59.

60.

61.

62.

63.

Which symbol you generally used to type an e-mail address?

A #
©) &

(B)
D)

@

A

How many spaces should leave after Interrogation Mark?

(A) One
(C) No space

In Proof Correction # stands for :
(A) Equalize Spacing
(C) Insert Space

Touch Method of typewriting is also known as :

(A) Sight Method
(C) Single Method

Breaking of words at the ends represented by :

(A) Hyphen
(C) Interrogation

The size of Octavo Paper is :
(A) 200 x 125 mm
(C) 400 x 250 mm

While typing on stencil, the ribbon is made :
(A) Active
(C) Inactive

The default left margin in a word format is :
A 1.257
<© 15

Shortcut command to centered a text :
(A) CTRL+C
(C) CTRL+ L

(B)
)

B)
D)

B)
D)

(B)
D)

(B)
D)

B)
D)

(B)
D)

B)
D)

Two

None of these

Move to the left
Move to the right

Nine finger Method
None of these

Exclamation

Comma

325 x 200 mm
400 x 325 mm

Vibrating
None of these

1”
277

CTRL+J
CTRL+E

In MS word will print a complete set of first copy, then the second set and so on, which option

is selected?
(A) Selection
(C) Print to file

(B)
D)

Collate
Manual Duplex
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64. In MS word formula option is available in the :
(A) Format Menu (B) Edit Menu

(C) Insert Menu (D) Table Menu

65. Using KeyBoard, how to close the current window?

(A) CTRL+F4 (B) SHIFT + F4
(C) ALT-F4 (D) CTRL+ F5

66. ————— symbols placed before to highlights the item in a list.
(A) Comments (B) Super script
(C) Subscript (D) Bullets

67. Which tool in MS Word is used for Synonymns and Antonymns word?
(A) Grammer Option (B) Translate
(C) Thesaurus (D) Compiler

68. What is the expansion of ‘pdf’?
(A) Photographic document format (B) Printable document format

(C) Protected document format (D) Portable document format

69. Which feature helps you to inserts the contents of the clipboard as text without any

formatting?
(A) Page Set up (B) Format Painter
(C) Paste Special (D) Styles

70. Insert ghosted text behind the content on the page, which option is used?
(A) Watermark (B) Effects
(C) Text Box (D) Hyphenation

71. The default font used in MS-Word :
(A) Times New Roman (B) Arial
(C) Algerian (D) Lucida
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72.

73.

74.

75.

76.

71.

78.

Drop cap means :
(A) Small caps (B) Toggle case
(C) All caps (D) None of these

To create letters and address lists which template provided by word :

(A) Word Art (B) Format painter
(C) Smart Art (D) Mail merge
When we point and click on the Start Button ————————— menu will appear.
(A) File menu (B) Sub menu
(C) Pop-up menu (D) None of these

What does CTRL + = Key effect?
(A) Subscript (B) Grow font
(C) Superscript (D) Shrink font

How will MS Word will respond in repeated word?
(A) A red wavy line under the repeated word
(B) A green wavy line under the repeated word
(C) A blue wavy line under the repeated word

(D) None of the above

Tab Stop position cannot be the following alignment :
(A) Decimal alignment (B) Center alignment

(C) Bar alignment (D) Justify alignment

How to use format painter multiple times?
(A) By click on Lock Format Paint Icon
(B) By double click on Lock Format Paint Icon
(C) By selecting Edit —» Format Painter — Multiple Use

(D) Format Painter cannot be use multiple times
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79.

80.

81.

82.

83.

84.

Bug means :

(A) A logical error in a program
(B) A syntax error in a program
(C) Grammar and spell check in a program

(D) Efficient documentation

If you move the mouse pointer over an icon, you find information about this icon in a small

rectangular box. This information is called a :

(A) Short cut (B) Background
(C) Tool tip (D) Screen saver
Full form of URL is :
(A) Uniform Resource Locator (B) Uniform Resource Link
(C) Uniform Registered Link (D) Unified Resource Link

The following device is used to connect two systems using different protocols :
(A) Modem (B) Repeater
(C) Gateway (D) Bridge

Correcting errors in a program is called :
(A) Interpreting (B) Translating

(C) Debugging (D) Compiling

The garbage collector :
(A) Is critical for efficient virtual memory system
(B) Is mostly used with fixed partition
(C) Prevents fragmentation form occurring

(D) Collects fragmented areas of memory
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85.

86.

87.

88.

89.

90.

91.

92.

The average number of comparisons in sequential search is

@) n? (B)

©C) nn+2)/2 (D)
www 1s based on which model?

(A) Local server B)

(C) 3tier (D)

“The fathers of internet” is :
(A) Tim Beners Lee B)
(C) dJack Smith (D)

In OOPS hiding individual components of an entry is :

(A) Encapsulation B)

(C) Scaling D)
The output of a lexical analyser is :

(A) A parse tree B)

(C) Intermediate code D)

(n+1)/2
n+2/2

Client server

None of these

Marc Andreessen

Vint Cerf

Polymorphism
None of these

A stream of tokens

Machine code

The operation which is commutative but not associative is :

(A) NAND B)
(C) EX-OR D)

Examples of system programs includes :
(A) Operating system of computer B
(C) Compiler D)

Large collection of files is known as :
(A) Attribute B)
(C) Database D)

13

OR
AND

Trace program

All of the above

Files

Records
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93.

94.

95.

96.

97.

98.

99.

To transfer electronic mail from one machine to another, the following ICP/IP protocol is
used :

(A) RPC (B) SMTP
(C) FTP (D) SNMP

The following topology has highest reliability :
(A) Mesh (B) Ring
(C) Bus (D) Star

Verification is a process of :
(A)  Access (B) Authentication
(C) Login (D) Logout

The following is the unstable sorting method :
(A) Insertion Sort (B) Bubble Sort
(C) Heap Sort (D) Merge Sort

One Giga Byte (1 GB) is equal to :
(A) 1024 bytes (B) 1024 kb
(C) 1024 Tb (D) 1024 mb

Which ports connects special types of music instruments to sound cards?
(A) BUS (B) CPU
(C) MIDI (D) MINI

Dirty bit is used to show the :
(A) Page that is modified after being loaded into cache memory
(B) Page with corrupted data
(C) The wrong page in the memory
(D) Page that is less frequently accessed

100. HTTP stands for :

(A) Hyper Transfer Text Protocol (B) Hybrid Text Transfer Protocol
(C) Higher Text Transfer Protocol (D) Hypertext Transfer Protocol
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